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Multiple choice questions:
SUBJECT: IT

1. Communication is non stop
(A) paper
(B) process
(C) programme
(D) plan

2. The is the person who transmits the message.
(A) receiver
(B) driver
(C) sender
(D) cleaner

3. is the person who notices and decodes and attaches some meaning
to a message.
(A) receiver
(B) driver
(C) sender
(D) cleaner

4. Our dress code is an example of communication.
(A) verbal
(B) nonverbal
(C) written
(D) spoken

5. communication includes tone of voice, body language, facial
expressions etc.
(A) non verbal
(B) verbal
(C) letter
(D) notice




SUBJECT: ENGLISH

. Yesterday, the city by a thunderstorm.
a. hit

b. was hit

C. hits

d. was hitting

. If along journey a good start, it ends with a better result.
a. is given

b. give

C. is giving

d. gives

. Renu is feeling proud of her father because he as an MP.
a. will elect

b. elect

c. had elected

d. has been elected

. When | arrived in the dream country, | straight to the palace.
a. takes

b. take

c. was taken

d. took

. Last Monday, the Annual Function in our school.
a. was celebrated

b. is celebrated

c. celebrated

d. celebrates



SUBJECT : MATHEMATICS

1. The zero of the polynomial p(x) =2x +5is

@ 2
(b) 5
© 2
5
(@ -3
2

2. The number of zeros of x? + 4x + 2
(@ 1
(b) 2
(c) 3
(d O

3. The value of k, if (x — 1) is a factor of 4x® + 3x?> — 4x + K, is
@ 1
(b) 2
(c) -3
(d) 3

4. The degree of polynomial pi)=x + x2 =1 1S
(@ O
(b) 2
(c) 1
(d) 3

5. The zero of the polynomial p(x) = -9x + 9is:
(@0
(b) -9
(c)-1
d)1



SUBJECT: PHYSICS

Q1. The velocity of a car increases from 36 km/h to 108 km/h in 10 second. Its
acceleration is

2m/s?
3 m/s?
20 m/s?
30 m/s?

oo op

Q2. A body moving uniformly along a circular path has

Constant velocity
Constant speed

Variable speed

Same direction of motion

oo p

Q

Q3. The magnitude of average velocity is always

more than average speed

equal to average speed

more than or equal to average speed
less than average speed

aoop

Q4. A car attains 54 km/h in 20 second after it starts from rest. What is the
acceleration of the car?

7.5 m/s?
0.75 m/s?
5.7 m/s?
d. 75 m/s?

oo

Q5. A racing car has a uniform acceleration of 4 m/s2. What distance will it cover in 10
sec after the start?

200 m
20 m
100 m
00m

oo oW



SUBJECT: CHEMISTRY

. The process of diffusion of water molecules through a semi-permeable
membrane

(&) Vapour pressure

(b) Turgidity

(c) Osmosis

(d) Transpiration

. The state of matter having negligible intermolecular space
(@ Only solids

(b)  Only liquids

(c) Only gases

(d)  All of the above

. This material(fibre) is a good absorber of water

(@) Cotton
(b) Polyester
(c) Rayon
(d) Nylon

. The force that binds the particles of matter together is known as:
(@) Intermolecular space

(b) Bond

(c) Intermolecular force

(d)  Nuclear force

. A gas which obeys the gas laws is known as:
(@ Anideal gas

(b) A heavier gas

(c) Alighter gas

(d) Arealgas



SUBJECT: BIOLOGY

1. Organic farming does not include

a) Green manures

b) Chemical fertilizers

c) Crop rotation

d) compost and farmyard manures

2. Exotic breed of poultry bird having high egg laying capacity is

a) White leghorn

b) Broilers

¢) White cornish

d) New Hemisphere

3. Weeds of common crop field can be eradicated by the use of

a) Fungicides
b) Bactericides
c¢) Herbicides
d) Biofertilizers

4. The oil-yielding plant among the following is

a) Lentil

b) Cauliflower
c) China rose
d) Sunflower

5. Animal feed 'Roughage’ include

a) Protein
b) Fat

c) Fibre
d) Vitamin



SUBJECT: CIVICS

1) General Parwez Musharraf led a military coup in the year
a) 1999
b) 2000
c) 2002
d) 2003

2) Elections are held in China after every
a) 2years
b) 3years
c) 4 years
d) 5years

3) During which period did China record it's worst famines in the world’s history?
a) 1935-1939
b) 1958-1961
c) 1952-1955
d) 1943-1946

4) Which of the following countries does not deny equal rights to vote?
a) Saudi Arabia
b) Estonia
c) India
d) Fiji

5) Which of the following is in favour of democracy?
a) Leaders keep changing
b) Delays are often made in taking decisions
c) The dignity of citizens is enhanced
d) Political competition is very prominent



SUBJECT: GEOGRAPHY

1. Which is the smallest state of India area wise?
A Goa
B. Jharkhand
C. Uttarakhand
D. Bihar

2. Which country is larger than India?
A. Germany
B. France
C. Myanmar
D. Australia

3. Which state of India is situated in the central part of India?
A. Madhya Pradesh
B. Andhra Pradesh
C. Himachal Pradesh
D. Arunachal Pradesh

4. How many types of states were there in India before 19477
A 4

B. 3
C. 2
D. 5

5. Which Union Territory is the capital of twin states Punjab & Haryana ?
A. Daman
B. Sri Nagar
C. Chandigarh
D. Port Blair
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ASSIGNMENT..2 Date - 28/04/2020

CLASS -9, SUBJECT- HINDI

MCQ (a¥gs u%)

1. Auret - s d Al WR R ISt ot ehestT 872
a) YR

b) STt

c) SRS

d) =+

2. fasd & 91 IR 8 ST TR /T STl ehl ST gidll 87?
a) THh - ARG

b) ==

c) T gy

d) Heg

3. g1 & Tk T A fohaA o= I 8RT &= foram 82
a) frgant

b) forarT =

c) ASIgl =

d) arfar =

4. SFe & forg forera & Tae Sr<est SIvTg i & 82
a) TSHhIR

b) feedt

c) S8

d) wgrar

5. forsd T 8% SRR o9 et el 872

a) forart &



b) &harT &
C) SRR HoIgl &
d) foregent &
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